[D TOW ] 773,775

COUPLER FOR 2” BALL WITH ADJUSTABLE COLLARS
ACOPLADOR PARA BOLA DE 2” CON COLLARES AJUSTABLES
COUPLEUR POUR LES BALLES DE 2 PO AVEC DES COLLIERS AJUSTABLES

INSTALLATION INSTRUCTIONS
INSTRUCCIONES DE INSTALACION
CONSIGNES D’ INSTALLATION

READ ALL WARNINGS AND INSTRUCTIONS BEFORE INSTALLATION

WARNING: USE ONLY A 2" HITCH BALL WITH COUPLER FOR 2" HITCH BALL.

WARNING: WHEN USING SPACER PLATES. USE ONLY ONE (1) SPACER PLATE ON EACH SIDE OF TRAILER TONGUE.

WARNING: AT NO TIME SHOULD THE MAXIMUM WORKING LOAD OF THE COUPLER BE EXCEEDED. THE MAXIMUM WORKING LOAD FOR
THE COUPLER IS 3500 LB (1587 KG) MAX TRAILER WEIGHT.

WARNING: KEEP COUPLER OFF THE GROUND TO PREVENT DAMAGE AND DIRT BUILD UP.

INSTALLATION NOTES: FIGURE 1
THIS COUPLER IS DESIGNED TO BE WELDED OR BOLTED ONTO TRAILER TONGUE. FIGURA 1
WARNING: IF USING THE SPACERS, THE COUPLER CAN ONLY BE BOLTED. DO NOT WELD. DESSIN 1

WELD INSTRUCTIONS

(WITHOUT SPACERS ONLY.)
» SET WELDER TO 105-115 AMPS AND 18-22 VOLTS.
» USE NUMBER E6011 A.W.S. WELDING ROD.
» WELD 1/8” FILLET WELD AS SHOWN IN FIGURE 1.

SOLDADURA

BOLT INSTRUCTIONS SOUDURE
(WITH OR WITHOUT SPACERS.)
+ CHECK THE COUPLER AND TRAILER TONGUE
TOUCH FULLY BEFORE INSTALL.
» USE FOUR (4) 3/8” BOLTS THROUGH SIDE
HOLES (FIGURE 2).
+ TORQUE TO 20 FT-LB (28 N-M).
» AN ALTERNATIVE METHOD: USE TWO (2) 3/8”
GRADE 5 THROUGH BOLTS WITH LOCKNUTS
(FIGURE 3). TORQUE TO A MINIMUM OF

20 FT-LB (28 N-M). TAKE CARE AS NOT TO N
DAMAGE THE COUPLER DURING
INSTALLATION.
. FIGURE 2 L FIGURE 3
FIGURA 2 N costameones oy Vesie|
' DESSIN 2 ENTRETOISES DESSIN 3 ENTRETOISES

Le produit réel peut ne pas correspondre aux images présentées.

CHECK THE COUPLER AND MOUNTING HARDWARE REGULARLY. IT IS RECOMMENDED TO CHECK AFTER THE FIRST TEN (10) MILES
(16 KM) AFTER INSTALLATION. OIL MOVING PARTS TO PREVENT RUST BUILD UP.

THE ATTACHMENT AND INSTALLATION OF THIS PRODUCT IS CRITICAL AND BEYOND THE CONTROL OF WINSTON PRODUCTS, LLC.
WINSTON PRODUCTS, LLC IS NOT RESPONSIBLE FOR ANY DAMAGE THAT COULD RESULT FROM IMPROPER USE, INSTALLATION, OR
ATTACHMENT. AT NO TIME SHOULD THE SAFE WORKING LOAD OF THIS PRODUCT BE EXCEEDED.

LEA TODAS LAS ADVERTENCIAS E INSTRUCCIONES ANTES DE LA INSTALACION

ADVERTENCIA: UTILICE SOLO UN ENGANCHE DE BOLA DE 2" CON ACOPLADOR PARA ENGANCHES DE BOLA DE 2.

ADVERTENCIA: PARA USO CON PLACAS ESPACIADORAS. UTILICE SOLAMENTE UNA (1) PLACA ESPACIADORA EN CADA LADO DEL PUNTO
ENGANCHE DEL REMOLQUE.

ADVERTENCIA: EN NINGUN MOMENTO DEBE EXCEDERSE LA CARGA MAXIMA DE TRABAJO DEL ACOPLADOR. LA CARGA MAXIMA

DE TRABAJO PARA EL ACOPLADOR ES DE 3500 LIBRAS (1587 KG), EL PESO MAXIMO DEL REMOLQUE.

ADVERTENCIA: MANTENGA EL ACOPLADOR DESPEGADO DEL SUELO PARA EVITAR DANOS Y ACUMULACION DE SUCIO.

NOTAS SOBRE LA INSTALACION:
ESTE ACOPLADOR ESTA DISENADO PARA SER SOLDADO O ATORNILLADO AL PUNTO DE ENGANCHE DEL REMOLQUE.
ADVERTENCIA: S| SE UTILIZAN LOS ESPACIADORES, EL ACOPLADOR SOLO PUEDE SER ATORNILLADO. NO LO SUELDE.



INSTRUCCIONES DE SOLDADURA (SIN ESPACIADORES SOLAMENTE).
» CONFIGURE EL SOLDADOR A 105-115 AMPERIOS Y 18-22 VOLTIOS.
+ UTILICE UNA VARILLA PARA SOLDAR NUMERO E6011, SEGUN LO ESTABLECIDO POR LA SOCIEDAD AMERICANA DE SOLDADURA
(AMERICAN WELDING SOCIETY, AWS).
+ HAGA UNA SOLDADURA EN ANGULO DE 1/8” (3.18 MM) COMO SE MUESTRA EN LA FIGURA 1.

INSTRUCCIONES PARA ATORNILLAR (CON O SIN ESPACIADORES).
+ REVISE COMPLETAMENTE EL ACOPLADOR Y EL CONTACTO DEL PUNTO DE ENGANCHE ANTES DE LA INSTALACION.
» UTILICE CUATRO (4) TORNILLOS DE 3/8” (9.53 MM) EN LOS AGUJEROS LATERALES (FIGURA 2).
* ROTE HASTA 20 PIES-LIBRAS (28 N-M).
+ UN METODO ALTERNATIVO: UTILICE DOS (2) TORNILLOS PASANTES GRADO 5 DE 3/8” (9.53 MM) CON TUERCAS (FIGURA 3). ROTE
HASTA UN MINIMO DE 20 PIES-LIBRAS (28 N-M). TENGA CUIDADO DE NO DANAR EL ACOPLADOR DURANTE LA INSTALACION.

REVISE EL ACOPLADOR Y LAS HERRAMIENTAS DE MONTAJE REGULARMENTE. SE RECOMIENDA REVISAR DESPUES DE LAS PRIMERAS
DIEZ (10) MILLAS (16 KM) DESPUES DE LA INSTALACION. ACEITE LAS PARTES MOVIBLES PARA EVITAR LAACUMULACION DE OXIDO.

LA FIJACION E INSTALACION DE ESTE PRODUCTO ES CRITICAY SE ESCAPA DEL CONTROL DE WINSTON PRODUCTS, LLC.
WINSTON PRODUCTS, LLC NO SE HACE RESPONSABLE DE NINGUN DANO QUE PUEDA RESULTAR DEL USO, INSTALACION O FIJACION
INADECUADOS. EN NINGUN MOMENTO SE DEBE EXCEDER LA CARGA DE TRABAJO SEGURA DE ESTE PRODUCTO.

LIRE TOUS LES AVERTISSEMENTS ET INSTRUCTIONS AVANT DE COMMENCER L’ INSTALLATION

AVERTISSEMENT : UTILISEZ UNIQUEMENT UNE BALLE D’ATTELAGE DE 2 PO AVEC COUPLEUR POUR LES BALLES D’ATTELAGE DE 2 PO.
AVERTISSEMENT : LORSQUE VOUS UTILISEZ DES PLAQUES D’ESPACEMENT. UTILISEZ UNIQUEMENT UNE PLAQUE D’ESPACEMENT (1)
SUR CHAQUE COTE DE LA FLECHE D’ATTELAGE DE LA REMORQUE.

AVERTISSEMENT : LA CHARGE MAXIMALE D’UTILISATION DU COUPLEUR NE DEVRAIT EN AUCUN CAS ETRE DEPASSEE. LA CHARGE
MAXIMALE D’UTILISATION POUR LE COUPLEUR EST DE 350 LIVRES (1587 KG), POIDS MAXIMAL DE LA REMORQUE.

AVERTISSEMENT : GARDEZ LE COUPLEUR EN HAUT DU SOL POUR EVITER TOUT DOMMAGE ET ACCUMULATION DE SALETES.

CONSEILS D’INSTALLATION :
CE COUPLEUR EST CONGU AFIN D’ETRE SOUDE OU BOULONNE SUR LA FLECHE D’ATTELAGE DE LA REMORQUE.
AVERTISSEMENT : S| VOUS UTILISEZ DES ESPACEURS, LE COUPLEUR PEUT ALORS UNIQUEMENT ETRE BOULONNE. NE PAS SOUDER.

INSTRUCTIONS DE SOUDURE (SANS ESPACEURS UNIQUEMENT.)
+ REGLEZ LE SOUDEUR A 105-115 AMPERES ET A 18-22 VOLTS.
+ UTILISZ LA TIGE DE SOUDURE NUMERO E6011 AW.S.
+ SOUDEZ UN ANGLE DE 1/8 DE PO (3,18 MM) COMME ILLUSTRE A LA DESSIN 1.

INSTRUCTIONS DE BOULONNAGE (AVEC OU SANS ESPACEURS.)

+ VEILLEZ A CE QUE LE COUPLEUR ET LA FLECHE D’ATTELAGE DE LA REMORQUE SE TOUCHENT ENTIEREMENT AVANT DE DEBUTER
L'INSTALLATION.

+ UTILISEZ QUATRE (4) BOULONS DE 3/8 DE PO (9,53 MM) A TRAVERS LES TROUS LATERAUX (DESSIN 2).

+ COUPLEZ A 20 PIEDS LIVRES (28 NM).

+ UNE AUTRE METHODE : UTILISEZ DEUX (2) BOULONS TRAVERSANTS DE CALIBRE 5 DE 3/8 DE PO (9,53 MM) AVEC CONTRE-ECROUS
(DESSIN 3). COUPLEZ A UN MINIMUM DE 20 PIEDS LIVRES (28 NM). PRENEZ SOIN DE NE PAS ENDOMMAGER LE COUPLEUR PENDANT
L'INSTALLATION.

EXAMINEZ REGULIEREMENT LE COUPLEUR ET LE MATERIEL DE MONTAGE. IL EST RECOMMANDE DE VERIFIER APRES LES 10 PREMIERS
MILES (16 KM) SUIVANT L'INSTALLATION. GRAISSER LES PIECES MOBILES AFIN D’EMPECHER L'ACCUMULATION DE ROUILLE.

LA FIXATION/LINSTALLATION ADEQUATE DE CE PRODUIT EST ESSENTIELLE ET ECHAPPE AU CONTROLE DE WINSTON PRODUCTS, LLC.
WINSTON PRODUCTS, LLC N'EST PAS RESPONSABLE DES DOMMAGES QUI POURRAIENT RESULTER D’'UNE MAUVAISE UTILISATION,
INSTALLATION OU FIXATION. LA CHARGE SECURITAIRE D'UTILISATION DE CE PRODUIT NE DEVRAIT EN AUCUN CAS ETRE DEPASSEE.

IF YOU EXPERIENCE ANY PROBLEMS WITH YOUR TOWSMART PRODUCT DO NOT RETURN THE UNIT TO THE RETAILER FROM WHICH IT WAS
PURCHASED. INSTEAD, PLEASE CALL 1-844-295-9215 FOR ASSISTANCE WITH ANY PROBLEMS. WARRANTY INFORMATION IS AVAILABLE
UPON REQUEST AND CAN BE FOUND ONLINE AT TOWSMART.COM.

SI USTED PRESENTA CUALQUIER PROBLEMA CON SU PRODUCTO TOWSMART NO DEVUELVA LA UNIDAD A LA TIENDA DONDE LA COMPRO.
AL CONTRARIO, POR FAVOR LLAME AL 1-844-295-9215 PARA OBTENER AYUDA CON CUALQUIER PROBLEMA. LA INFORMACION DE LA
GARANTIA ESTA DISPONIBLE A PETICION Y SE PUEDE ENCONTRAR EN LINEA EN TOWSMART.COM.

S1VOUS EPROUVEZ DES PROBLEMES AVEC VOTRE PRODUIT TOWSMART, NE RETOURNEZ PAS LE PRODUIT AU DETAILLANT, AUPRES
DUQUEL IL AURAIT ETE ACHETE PLUTOT, APPELER, S’IL VOUS PLAIT, 1-844-295-9215 POUR OBTENIR DE L’AIDE VISANT A REGLER LES
PROBLEMES RENCONTRES. GARANTIE LINFORMATION EST DISPONIBLE SUR DEMANDE ET PEUT ETRE TROUVEE EN LIGNE A
TOWSMART.COM.

Winston Products Company Una empresa de Winston Products Une entreprise Winston Products
D TOW TOWSMART.COM TOWSMART.COM TOWSMART.COM
WINSTON PRODUCTS, LLC. WINSTON PRODUCTS, LLC. WINSTON PRODUCTS, LLC.
SMA RT 30339 Diamond Parkway 30339 Diamond Parkway 30339 Diamond Parkway

Cleveland, OH 44139 Cleveland, OH 44139 Cleveland, OH 44139, E.-U. ©9/2019




